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Test of Knowledge

1. What Do A Decimal Number And A Thumbtack Have In Common?

ANSWER:_S 10 18 4 4 10 5 10 8 7 3 ~4 77

2. What Did Mergatroid Get For Losing 20 Pounds?

ANSWER:
7 4 5 4 7 14 5 6 6 9 8 -11 3 8 5

3. What Happened To The Man Who Fell Into The Bubble-Gum-Mixing
Machine?

ANSWER:
4 3 5 14 7 5 5 18 4 5 6 51 4 3 -2 71277

———S e

TO DECODE THE ANSWERS TO THESE THREE QUESTIONS:
Solve any equation below and find the solution in the code. Each time the solution

appears, write the letter of that exercise above it. Keep working and you will discover
the answer to each question.

— e
®3y-7-8 t ©-30--ox-3 % ©ow +17 =53
@ex +2=-10 r,E®~57=.—12+3r § ®10x +11="19
@ -4x +6 =34 £ ©-7x+ 143 § © -8 =27 5
@15=2m -9 t @-40-8-6s ! ®-44 =3k 2
® 29 =-8t - 3 § ©®-13x — 19 = -6 ® -4 -8 =36
® 7 - 5y =-43 ®-12 =y - 21 § ®37+12t =85
@ 14 + 4x = 38 ®5-m=13 g®‘13=7y+64
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